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sina=0.2972

cosa=0.9544
P=qX

Pq1:80KH
Px=80-sin45°
Py=80-cos45°
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M(x)-V,-x+0.5-q-x*=0
X "l Mix)=V 4-x~0.5-q-x?
| O=x=k
| M(0)=0;M(%)=308
A I
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30=0 IN=0
-Q(x)+Vy-cos(a)-g-x-cos(a)=0  N(x)+V,-sinla)-g-x-sin(a)=0
Q(x)=Vy-cos(a)-g-x-cos(a) N(x)=g-x-sin(a)-V,-sin(a)
O=x=k O=x=k

0(0)=111.66; Q(4)=35.43 N(0)=-34 89;N(4)=-11.034

ZMkZO
M(x)—VA-(IHx)+Pq1(2+x)+Py-x+Px-y+0‘5-q-x2:0
Mix)=4-V 5-X-8-Q+X(V p-4-q-P,~0.3125-P,)-0.5-q-x*
O=x=b4

M(0)=308;M(4)=0

¥N=0

N(x)+V 4-sin(a)-4-g-sin(a)-Py-sin(a)+Px-cos(a)-g-x-sin(a)=0
N(x)=sin(a)-(4-q+P,-V,)-Px-cos(a)-g-x-sin(a)

O=x=4

N(0)=-48.148;N(4)=-24.29

30=0
-Q(x)+Vy-cosla)-P_rcos(a)-Py-cos(a)-Pesin(a)-g-x-cos(a)=0
0(x)=cos(q)-(VA—A-q—Py)—Px-sin(a)-q-x-cos(u)

O=x<4

0(0)=-35.43; Q(4)=-111.66



